
125 STING '98 <1998><EU><110385>
IGNITION SYSTEM

32028

Pos Part Number Description Additional Text Quantity

1 48222279 IGN. SYSTEM CPL. DIGITAL 95W 1.00

3 44904440 BUSHING 12,2X22X6 1.00

4 44903470 HH NUT M12X1,25 WS=17 1.00

10 42109070 IGNITION COVER 1.00

11 45308850 IGNITION COVER GASKET 1.00

12 42402680 PLUG M14X1,5 1.00

13 0770140200 O-RING 14,00X2,00 1.00

14 45604050 DOWEL 6X15 2.00

15 0912060603 AH SCREW DIN0921-M 6X60 4.00

16 0912060353 AH SCREW DIN0912-M 6X35 1.00

20 51139031000 DIGITALBOX CDI 1.00

21 51139030000 RUBBER BRACKET FOR DIGITAL BOX 1.00

22 51139006000 IGNITION COIL '96 1.00

23 54531010000 SPARK PLUG CAP LB05EMH N 1.00

24 51139093008 SPARK PLUG NGK BR8ES 0.00

24 51139093009 SPARK PLUG NGK BR9ES 1.00

25 0015060163 HH COLLAR SCREW M 6X16 WS=8 FE, FS 2.00


